5 th ,’ for Cooper Inc. for the first four months of the coming year
Jan Feb Mar Apr ]

e

| $15,000 $24,000 $18,000 $14,000 | |
~ [ $100,000 [ $130,000 $90,000 $70,000 | ‘
fage, 50% of credit sales are paid for in the month of the sale, 30% in the month following sale, and the remaine
'j.._.fal?e_ no bad debts, the expected cash inflow in March is:
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Question 1 (of 10)

5 Save & Exn Subitmit

HoiChong'ﬁanSpon_Lmt,op*nne

S a fieet of delivery trucks in Singapore. The camr '
' : - jelivery t w [Tl singapore. The company has determined that if a truck is driven 168,000 kilometers d dverage ope
A e ) e . atifa truck is di ©,000 kilometers during a year, the average operating cost is 13.2 cents pe '
IS driven only 112,000 kilometers Juring a year, the average operating cost increases to 16.7 cents per kilometer T T aIeage penthg et 2 ewe pe e i

Required:
1. Using the hlgt\-loy'J mem?c eslimate the variable operating cost per kilometer and the annual fixed operating cost associated with the fleet of trucks
2. \f a truck were driven 140,000 kilometers during a year, what total operating cost would you expect to be incurred?

Complete this question by entering your answers in the tabs below.

Required 1 Required 2

Using the high-low method, estimate the variable operating cost per kilometer and the annual fixed oprating cost associated
with the ﬂpet of trucks. (Do not 1 d your intermediate calculations. Round the Variable cost per kilometer to 3 decimal
places.)

| Fixed cosl




The company should drop a product that is making l0sses, if

O Fixed costs of that product are less than contribution margin.

O Lost revenues from dropping the product are greater than cost savings from droppir g 1

O More than 50% of the product fixed costs can be avoided.
!
an lost revenues from

O Cost savings from dropping that product are greater th
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instructions ! help
Question 3 (of 10)

@ Save & Ext Submu

. o ' ( o | o o |..:“w*. fictribi it T Attomotive nrac ot th- =<7 - SAS AN . 5 .
L?Y?Ot\(Jonwp Ny IS the exclusive distributor for an d.ﬂu‘-LHvl.L!QuLJJ:fLHtﬂ:lbefb;c.Lilﬁt[lHHfJFTJHHS a CM ratio of 30
year,

. The
Required:

company’s fixed expenses are $147,000 per year. The company plans to sell 19,500 units this

What amount of unit sales and dollar sales is required to attain a target profit of $63,00(

Unil sales needed to atiain target profit r

0 per year?

|
Dollar sales needed to attain target profit

¢ yaall 903 ylails = Fortnite :éall 30 v
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E Save & Fapt

O

Giannini Inc., which produces and sells OAUCE: HAS DrAdAA thA Al
tOUUCE, Nas provided the following contribution format income statement for March
Sales (5 000 units

Variable expenses

4 “'.':‘ 000
Contribution margin

'I.li_' NN
Fixed expenses 105 100
Net operating income S 900
Required:
Redo the company’s contribution format income statement assu '

ming that the company sells 5,200 units. (Do not round intermediate calculations,)

:
'y
:
]
:
e

"
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99,. and its fixed monthly expenses

$98.000, what is the best estimate
thly expenses do not

13. ABC Corporation's contribution margin ratio is 2
any’s sales for a month are

are $17,000. 1f the comp
of the company's net operating - come? Assume that the fixed mon

change.

AnNSWer:
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'Sales forecast for Cooper Inc. for the first four months of the coming year
| ' n Feb Mar A pr
| $15,000 I $24,000 $18,000 $14.000
__| $100,000 l $130,000 $90,000 $70,000

: x, credit sales are paid for in the month of the sale, 30% in the month following sale, and ";1 :

A .~

2re are no bad debts, the expected cash inflow in March is:

paal Y
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Lindon (_‘,'Lfﬂ\:u_‘”y" S e excusive tributor for an autom Rive product that el s for S$28 ) per unit and has a CM rat of 30 The comropany's f Xod expenses are $147 000 pevr year The cormpany plans 1o sed 18 500 urets s

year

Required:

What amount of unit sales and dollar sales Is required to attain a target pi AR Per ye
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The company should drop a product that is making losses, |f

(O Fixed costs of that product are less than contribution margin.

O Lost revenues from dropping the product are greater than cost savings from dropping! hat g

O More than 50% of the product fixed costs can be avoided.

O Cost savings from dropping that product are greater than lost revenues from dtom ,&_,j.
‘X
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Time remaining: 0:17:20

The management of AAA Cor ion i tedart
: poration is considering d |
HiBcoming year appear below: g dropping product M2. Data from the company's budget for the

=

'Sales
, Variable expenses ggggggg
Fixed manufacturing expenses $374'ooo
Fixed selling and administrative expenses $254.000
= ~—=Ta

PR, 5 =

In the company's accounting system all fixed expenses of the company are fully allocated to products. Further i
d $202.000 of the fixed selling and administrati

has revealed that $241,000 of the fixed manufacturing expenses an 1d adm:
expenses are avoidable if product M2 is discontinued. The financial advantage (disadvantage) for the company of

eliminating this product for the upcoming year would be:

-
o

O $125.000

(O $60.000
O $(60,000)

@ 3$(125.000)

I‘"I

i\
-

U
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Question 9 (of 10)
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< Question 2 (of 10) -

Mauro Products distnbutes a single product, a woven basket whose selling price Is $16 per

Required:
1. Calcuiate the company s break-even point in unit sales
i |

2 Calculate the company's break-even point in dollar sales. (Do not round intermediate caic
3 If the company's fixed expenses increase by $600, what would become the new break-even

l)c]\“h’li‘\
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Time remaining: 0:47:M

Mauro Products distributes a single product, a woven basket whose selling price is $24
per unit and whose variable expense is $20 per unit. The company's monthly fixed
expense is $7,200.

Required:

1. Calculate the company’s break-even point in unit sales.

2. Calculate the company’s break-even point in dollar sales. (Do not round intermediate
calculations.)

3. If the company's fixed expenses increase by $600, what would become the new break-
even point in unit sales? In dollar sales? (Do not round intermediate calculations.)

—-

Break-oven pont in unit sales | baskols
2. Break-sven pont in dollar sales ‘ \
‘———‘

3. Break-oven pont in unit sales | baskots

F \

Break-aven pont in dollar sales

+ Y
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Shown below is the sales forecast for Cooper Inc. for the first four months of the
coming year

Jan Feb Mar Apr
Cash sales $15.000 $24.000 $18.000 $14.000
Credit sales $100.000 $120.000 $110.000 $70.000

On average, 50% of credit sales are paid for in the month of the sale, 30%
in the month following sale, and the remainder are paid two months after the
month of the sale. Assuming there are no bad debts, the expected cash inflow

in March is:

O swe000
O s$129000
O s$132.000

O sneo00

+ Y
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gapore. Th :
p e company has determined that if a truck is driven 99,000 kilometers during a year

ieter. If a truck is driven on m
y 66,000 kilometers during a year, the average operating cost increases to 11.9 cents per kilomete

=

| Chong Transport, Ltd
st 1s 10.6 cents per ki\ol VL ey icks i Sin

aquired:
USing the hlgh low m : Wl
7 ethod, estimate the vari i =
If a truck were drive A e variable operating cost per kilometer and the ann . . . ol
n 82,500 kilometers during a year, what total operating cost would you :il;)?::?ct‘oog: ﬁtc'zgrgg?t associated with the fleet of trucks.

Complete this question by entering your answers in the tabs below.

Ml«lm‘uj,l 4 .l.._.l_;

| he annual fixed operating cost assot
riable cost per kilometer to 3 decimal

Required 1 E: Required 2
B

lw”"u“E
T'
|
|
|
|
|
|
0
O
pt
o
®
=
o
=
1))
©
1)
2
Q.

Using the high-low method, estimate the variable opgrating
with the fleet of trucks. (Do not round your intermediate ca

places.)

.....
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Time remaining: 0:41:24

The company’s fixed expenses are $411 600 per year. |

Lindon Company is the exclusive distributor for an automotive product that sells for $56.00 per unit and has a CM ratio of 309

company plans to sell 29,300 units this yeai
target profit of $243,600 per year?

d dollar sales is leauxred to att'am
- J 3 N

Required:
What amount of unit sales an

T
i) I LI IALI T T Rl Yo
Umt sales needed to attam target prOflt Hi1ad) F

Do\ ar sa\e% neeoed to attain target pxoﬂt
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{i " The following equation will be used to calculate variable cost per unit in high-low method

Il

O Variable cost/unit = A volume of activity = A total cost
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O Variable cost/unit = A total variable cost ~ A volume of activity

i
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l“

i
|
|

|
|

o
i
L"[I‘M"M"Wl\.; A

O Variable cost/unit = A volume of activity = A total variable cost

il
it

il
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O Variable cost/unit = A total cost = A volume of activity

|
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Not affect the break-even pPoiNnt?

s
O AUmber of ynits sold

O selling price Per unit

O total fixed EXpense
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Budgeted production needs
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adding budgeted sales

decducting the |

adding budgeted
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Question 9 (of 10)

INits from this total

Nits from this total

O s reserved
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iget. Which of the following BEST describes the production budget?
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< Question 2 (of 10) v >

Time remaining: 0:06:43

Mauro Products distributes a Single product, a woven basket whose selling price is $16 per unit and whose variable expense is $13 per unit. The company’s monthly fixed expense is $6,600.

Required:
1. Calculate the company’'s break-even point In unit sales

2. Calculate the company's break-even point in dollar sales. (Do not round intermediate calculations.)
3. If the company's fixed CXPENSES InCrease by $600, what would become the new break-even point in unit sales? In dollar sale

— 11 T i IS HTIITIN Fr i }
,..,~- s M ‘. - ] i 4}

$7 (Do not round intermediate calculations.)

1#1 Break-even point in unit sales 2,200 baskets
5 Break-even point in dollar sales r d 35,200
Pk :
|3. |Break-even point in unit sales r 200 baskets
re .

Break-even point in dollar sales r ! 3,200

R im cDene B D P O O m B O O® O § m




I- ZX company manufactures a sw
switches from other. Should comp
incremental costs to buy.

itch that uses in its final product but company to buy
any buy if the incremental costs of making exceed to

A.  Should buy the product
B.  Should make the product
C.  Don’t buy the product

D. None of the above




